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From the time of slaughtering — Ui nywn

Overview

The X711 cites a dispute between 713mM° " (who maintains that the X317 710°X of 9%
y¥n begins from the time of nvnw), and W p% w1 (who maintains that it begins
from the time of 7m°p% [when they are designated to be the v¥n >719%]).! Our
mooIn clarifies the view of >".
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The explanation of nvwnw nywn according to °"3 is that the nm>wn is also

forbidden® 7372 from when her partner was unwa till the sending away, when
the n?Wwn is NN even 72°OX2.

mooIN rejects an alternate explanation:
- 995 99X NI NNLIVNI NVINYA NVINY NYWN “WI3Y PPN)

And one cannot explain that the nwnw nywn 70°X (according to >"1) refers only

to the 7w, but by the nr>ww» there is no "°°X at all, even before she was sent

away (and certainly after the vnw) -
NN YRUNT YIINND 29I9N NI NNAT

For the mwn states ¥y71%% 19X (in the plural), which indicates that by both of the
birds she is not nwTpn (even with the n?wn [before sending it away]).

Summary
The NARIWN is RIT2 770K from the time of 7YV MY until the time of MY w.

Thinking it over
If the MR is only v nw nywn how does this Mo°R affect the nr2wn; how does it

become 710K, since no action is taken regarding her?!’

! According to 5" both birds are 7% nywn Pox (for we did not designate as of yet which will be the mmw and
which will be the nn?wn»). However after the nn?wn is sent away she is N2 (even 12°982 [see the X3 later]).

2 The term w1d here is to negate the w159 PXY mentioned immediately.

3 It is self-understood that any 110°% regarding the nm2Ww» is an 7837 MO°X, for it is alive (there cannot be any MoK
72°9R). See 'oin later an "7

4 This seems to be >"w1. See (the contrast in) (777> nywn 7"727) A nw nywn "7 "'wA.

3 See (also) *Xin 7"7 'oIn (at the bottom of this TmY).
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